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SECTION1. Functional writing 20 marks
You had visited your friend over the August holiday. He/she assisted you with text books that you promised to return once the holiday is over. Unfortunately, you have lost all the books including yours in a vehicle and you cannot trace it. 
(a)Write a reply to a letter s/he has sent you during the first week of opening school requesting for the books.

(b) Write a packing list of the things you lost which you want to give the booking office to help trace the items.

SECTION2. Comprehension 20 marks
Read the passage below and then answer the questions that follow.

The galloping increase in rural poverty is hitting women hardest. Sixty per cent of the rural poor are women, and their numbers have jumped by 50 per cent from the 1965-70 level, as opposed to a 30 per cent increase for men during the same period. Of the 550 million women in the world, 76 million head households. 

The largest proportion by far of female-headed rural households — 31 per cent — is in sub-Saharan Africa, ranging from 5 percent in Burkina Faso to 60 per cent in Mozambique. In Asia, by contrast, women are the principal source of support for 9 per cent of rural families; in Latin American and the Caribbean the figure is 17 per cent. 
Although women produce half the developing world’s food supply — as much as 80 per cent in Africa — they have far less access and other vital resources. Although prime producers, women have difficulties obtaining plots even in land reform programmes where their share is mandated by law. In Gambia, where a rural distribution programme was closely monitored to ensure women’s land rights, they still came away empty-handed, or with the most barren patches. Only 7 per cent of agricultural extension staff in Africa are women, compared with 13 per cent worldwide. 
IFAD stresses that the key to reducing rural poverty is enabling small farmers to dramatically increase production of staple crops, arguing that growth based on the production of goods for export is unattainable for most of the developing world. The agency notes that economic and political conditions that sparked rapid expansion in some newly industrialised Asian countries during the 1960s and 1970s were unique and do not apply in Africa today. 
IFAD also questions structural adjustment as a path to reduced poverty, saying that such programmes “focus on the non-poor and merely provide welfare support” to those most adversely affected by the inflation, devaluation and loss of subsidies that generally accompany adjustment. “Safety nets” to lessen the hardship are “less relevant in most rural areas, where the long-term economic future of the poor is linked to the development of their own productive resources,” 

a) Who is most affected by the increase in rural poverty? Explain.(2 marks)

b) By what percent do women exceed men in poverty in terms of jumping from the 1965-70 level?(2 marks) 
c) How many men head households in the whole world?


(1mark)


d) Explain the irony presented in paragraph 3 of the passage. (2 marks)
e) What, according to the author, is the key to reducing rural poverty? (2 marks)
f) Why shouldn’t Africa be compared to some newly industrialised Asian countries during 
the 1 960s and 1 970s which experienced rapid expansion? (2 marks) 
g) What reason is given by the author for rejecting structural adjustment programmes? (2 marks) 

h) Identify the statement that is true according to the passage.

(1mark)
(i) Asia has the most women supporting their families.

(ii) Burkina Faso has more women supporting their family compared to Mozambique

(iii) Latin America has as many women as Caribbean supporting their family.

(iv) Burkina Faso has the least number of women supporting their family in Asia.
i) Add a question tag






(1mark)
Only 7 per cent of agricultural extension staff in Africa are women,
j)  Provide an antonym of the following word used in the passage.
(1mark)

Reduced
--
k) Explain the meaning of the following words as used in the passage. (4 marks) 

i) galloping ----------------------------------------------------------
ii) barren    -----------------------------------------------------------
iii) sparked  ----------------------------------------------------------
iv) adversely --------------------------------------------------------
l) Suggest a suitable title for this passage.



(1mark)
SECTION 2- Oral Skills

(a) Read the poem below and answer the questions that follow
TO MY SISTER

It is the first mild day of March:

Each minute sweeter than before,

The redbreast sings from the tall larch

That stands beside our door.

There is a blessing in the air,

Which seems a sense of joy to yield

To the bare trees, and mountains bare,

And grass in the green field.

My sister I (‘tis a wish of mine)

Now that our morning meal is done,

Make haste, your morning task resign;

Come forth and feel the sun.


(William Wordsworth)

 Questions

(i)
Describe the rhyme scheme of the poem.








(2mks)
(ii)
Give two instances of alliteration.








(2mks)

(iii) Cite assonance in the poem.









(1mk)
b) Identify the intonation that would be present in the following sentences


 (3mks) 

(i) What deal did the two agree on? 

(ii) Did you see the summary? 

(iii) Shame on you!
c) Identify the odd one out according to the pronunciation of the underlined letters.

(5marks)

(i) Nose

rose

gone

(ii) Spike

stick

thick

(iii) Spotted

picked

looked
(iv) Duty

dump

dusk
(v) Knob

comb

tomb
d) Read the following paragraph in which the writer expresses feelings of the subject. 


Answer the questions based on it. 



The prince was their idol,


Though he was enjoying the peas,



He was bored and needed parting, 



The regency took the queue.



To enjoy from the generous air,


The kind sun of the kingdom.



In the end, it was classified as a blessed rain.

e) Write the appropriate homophones of the underlined words to bring out the desired sense.
(4mks)
f) Underline silent letters in the following



(2marks)
(i) Juicy

(ii) Interesting

(iii) Phlegm

(iv) Paris
SECTION C: GRAMMAR
a) Rewrite the following sentences, placing the adjectives in the right order.


(2 mks)


(i) 
Claudior bought (a wollen green old circular big) skirt.

(ii) 
Wanjiru has (a brown shapeless second-hand ugly) suit.


(iii)
The (metallic Chinese, old, fancy, big) box is Trevor’s.
b) Rewrite the following sentences according to the instruction given after each.
(i) Robben is an efficient clerk. He is also a clever batsman. (join using Not only….)
(ii) If he calls me, I will attend the wedding ceremony. (Begin: Unless ----)
(iii) In spite of the bad weather they decided to go for a walk as planned. (Rewrite using although)
(iv) Cherono’s handwriting is better than anyone else’s in this class.  (Rewrite using a superlative)
(v) Shut up. Go to the market. (Join into one sentence with a coordinating conjunction)
c) Fill in the blanks in the following sentences with the type of connectors shown in brackets.
(3mks)
(i) ………………… the hot weather, the scouts walked twenty kilometers. (contrast).

(ii) Many insects ……………………………... the praying mantis, can fly. (illustration).
(iii) I was exhausted …………………… I sat down to rest. (consequence)
d) Use the correct form of the verb in brackets to fill in the blank spaces.
(3mks)
(i) They boy ______________ on the mat. (lie)

(ii) The hen will ___________ the egg at noon. (lay).

(iii) When the cow woke up, she had ___________for twelve hours. (lie)
(iv) The students ___________________ assistance from the police after the attack (seek) 

(v) The visitors ___________________ us goodbye and left immediately (Bid) 

(vi) All the workers have been ______________ their dues. (pay) 

e) Use quotation marks where appropriate in the following sentences.
(i) Many students think they have reached the Promised Land when they attain a good grade in K.C.S.E.
(ii) Ngugi wa Thiongo’s first novel Weep Not, Child earned him a lot of accolade.
(iii) I kept it over there, the girl said, under that bed.
(iv) The teacher said, Read The River and the Source by Mragaret Ogola and answer the questions at the back of your books.

f) Rewrite the following sentences accord to the instructions after each  (3mks)              

(i) The twins scored high marks.  They have been admitted to a national school.


(Join into one sentence using a relative clause.)
(ii) This is the boy. His father is a generous man. (Join into one sentence using a relative pronoun) 
(iii) For (who, whom)……………………are you carrying that food? (Choose the correct item)

g)  Explain the difference in meaning between the following pairs of sentences (4mks)    
I
(i) The students who performed well were awarded certificates.
    
(ii) The students, who performed well, were awarded certificates.
 II
(i)  A box of wood stood near the front door.
       
 (ii) A wooden box stood near the front door.
h) Fill in the blanks with the correct form of the word in brackets



(3mks)


(i) “I am the strongest boy in this class,” Jemo said ______________________ (boast)

(ii) Such ________________ (repeat) is boring.
(iii) He MP in that area served the people_________________ (duty) till his death.
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